06943_A T EEBEERFMNTHENERIEF | NREMZRE

@ 7= BR 5 BA

frei

STAINLESS STEEL *j’*;l’ :
EEENEEME , T8N 1.4301,

EREEHMRIEF LR 1.4581,

g
EEELXRATE K IE5THUEHERE , B,
B F T HIR B RO FINL X R AR I e AL B

B
MRZAREREPF  NFEHRTAAARTELIRE, BINRE,

A-80 mm 22

.J"Fl'g.
&
g20x2

~
[&)] L+
B

06943-200081 A SELE 200 26 M8x35 60 226 1000
06943-300081 A ZATEALE 300 26 M8x35 60 326 1000
06943-400081 A FITEAE 400 26 M8x35 60 426 1000
06943-200082 A ReBrthE 200 26 M8x35 60 226 1000
06943-300082 A e 300 26 M8x35 60 326 1000
06943-400082 A ReBRhE 400 26 M8x35 60 426 1000

© norelem www.norelem.com



